Auction Title: 17-23 Refrigerated and Frozen Foods for Students Nutritional Bid RFP Num: 40534 Services

Auction Title	17-23 Refrigerated and Frozen Foods for Student Nutrition Services (SNS)	Auction Status	

### 3TQ - Taste Quality of Product Unacceptable

4NS - No to Specifications 9PS Failed to Provide Sample 1NL - Not Low When Unit Price is Calculated

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
1	Y		APPLE CINNAMON TEXAS TOAST OR SIMILAR FLAVOR, IW, 96/CASE	1,500	CS	56.72	85,080.00	BRAUN BEEF CO INC
		9PS	BAGEL, MINI STRAWBERRY CREAM CHEESE OR SIMILAR FLAVOR, AT LEAST 51% WHOLE GRAIN, 2 OZ GRAIN EQUIVALENT, 72/CS	800	CS	30.94	24,752.00	THE MASTERS DISTRIBUTION SYSTEMS
	Υ		WHOLE GIVIN, 2 OF GIVIN EQUIVALENT, 12/03			55.43	44,344.00	TASTY BRANDS LLC
6	NA		BEEF, FINE GROUND 85/15, FROZEN, 4/10# VACUUM SEALED LOGS/CS	500	CS	53.38	26,690.00	TYSON PREPARED FOODS INC
						147.13	73,565.00	THE MASTERS DISTRIBUTION SYSTEMS
7	Y		BEEF ENCHILADAS, 51% WHOLE GRAIN BREAD COMPONENT	3,000	CS	56.05	168,150.00	MCI FOODS INC
9		3TQ	BISCUIT, 51% WHOLE WHITE WHEAT, DOUGH PUCK, PAR-BAKED, PRE-SLICED, NO TRANS FAT	500	CS	30.62	15,310.00	BRAUN BEEF CO INC
		9PS	NAME TAI			31.04	15,520.00	CHURCHFIELD TRADING COMPANY
	Y					32.58	16,290.00	RICH PRODUCTS CORPORATION
						34.33	17,165.00	THE MASTERS DISTRIBUTION SYSTEMS
10	Y		BISCUIT, ENRICHED, EASY SPLIT, HEAT & SERVE NO TRANS FAT, 2 OZ GRAIN EQUIVALENT, 100/CS #6182 OR SIMILAR	500	CS	26.15	13,075.00	BRIDGFORD MARKETING COMPANY
			EQUIVALENT, 100/03 NOTOE ON SIMILDIN			28.08	14,040.00	BRAUN BEEF CO INC
						32.58	16,290.00	RICH PRODUCTS CORPORATION
11	Y		BEAN AND CHEESE DIP, PORTION PACKED (48 EA/CASE)	200	CS	38.01	7,602.00	MCI FOODS INC
						62.00	12,400.00	STERLING BV INC
13	Y		BREAKFAST STICKS, PANCAKE & PRECOOKED TURKEY SAUSAGE, AT LEAST 51% WHOLE GRAIN, PORK FREE, 1 MEAT 1 GRAIN EQUIVALENT, 60/CASE, BULK	800	CS	41.53	33,224.00	GOODMAN FOOD PRODUCTS
			GRAIN, FORK FREE, I IVIEAT I GRAIN EQUIVALENT, 00/CASE, BOLK					
14	Y		BREAKFAST STICKS, PANCAKE & PRECOOKED TURKEY SAUSAGE, AT LEAST 51% WHOLE	1,000	CS	42.81	42,810.00	GOODMAN FOOD PRODUCTS
			GRAIN, PORK FREE, 1 MEAT 1 GRAIN EQUIVALENT, 40/CASE, IW					
15	Y-ALT		BREAKFAST WRAP, EGG TURKEY SAUSAGE/CHEESE IN WHOLE GRAIN TORTILLA, IW, PROVIDES AT LEAST 1M/MA & 1 GRAIN, 96/CS	300	CS	36.15	10,845.00	BRAUN BEEF CO INC
	Y		THOMBES AT ELECT INJUNA & I GIVIN, 30,63			46.73	14,019.00	MCI FOODS INC
16	Y		BREAKFAST WRAP, EGG, CHEESE & COOKED SAUSAGE CRUMBLES, PORK FREE, WHOLE GRAIN TORTILLA, PROVIDES AT LEAST 1M/1MA & 1 GRAIN, IW, 72/CS	300	CS	47.03	14,109.00	MCI FOODS INC
			GRAIN FORTILLS, INCOMES AT LEAST 211, 2111A & 2 GRAIN, 111, 72, 65					
17		9PS	BREADSTICK, CHEESY GARLIC, 1 GRAIN, WHOLE GRAIN, 320/CASE	1,000	CS	26.46	26,460.00	TYSON PREPARED FOODS INC
	Y					27.84	27,840.00	BRIDGFORD MARKETING COMPANY
						40.10	40,100.00	BRAUN BEEF CO INC
						40.65	40,650.00	THE MASTERS DISTRIBUTION SYSTEMS
						64.34	64,340.00	TASTY BRANDS LLC
18	NA		BREAKFAST SANDWICH, MAPLE WAFFLE OR SIMILAR, AT LEAST 51 % WHOLE GRAIN,	1,000	CS	76.94	76,940.00	TYSON PREPARED FOODS INC
			BREADED CHICKEN, AT LEAST 1 MEAT &1 GRAIN EQUIVALENT, IW, 126/CASE			84.74	84,740.00	THE MASTERS DISTRIBUTION SYSTEMS
						85.56	85,560.00	BRAUN BEEF CO INC
19	Y		BREAKFAST SANDWICH, TURKEY HAM & CHEESE, IW, 100/CASE	1,500	CS	40.83	61,245.00	BRAUN BEEF CO INC
						71.47	107,205.00	INTEGRATED FOOD SERVICE
						89.89	134,835.00	TASTY BRANDS LLC
			The District solicited 683 suppliers and rece	ived 32	respons	ses.		

100   1	Ln#	Award (Y/N)	Reason	ltem Description	Quantity	UOM	Price	Extended Price	Supplier
1	20	Y		BROCCOLI CUT, GRADE A CUTS WITH 35% HEAD MATERIAL, 20# BULK	1,000	CS	14.72	14,720.00	BRAUN BEEF CO INC
1									
1	22	Y			400	CS	42.25	16,900.00	STERLING BV INC
29	23	Y		BURRITO, BEEF BEAN CHEESE & SALSA IW, 80/CASE	300	CS	68.54	20,562.00	MCI FOODS INC
21   23   27   28   28   24   28   28   28   28   28	26	Y		WRAPPED IN AN OVENABLE WRAP. MUST PROVIDE MINIMUM 102. M/MA AND 1 GRAIN PER CHILD NUTRITION REGULATIONS. CN LABEL OR CERTIFIED PRODUCT	1,200	CS	46.73	56,076.00	MCI FOODS INC
310   100	29		4NS	CHOW MEIN NOODLES, IW, 140 EA/CASE	300	CS	30.63	9,189.00	OUT OF THE SHELL LLC
20   10   10   10   10   10   10   10		Υ					33.50	10,050.00	INTERNATIONAL FOODS SOLUTIONS INC
Y	31		3TQ	CINNAMON BUN, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 72/2.90Z/CASE	1,500	CS	28.98	43,470.00	BRAUN BEEF CO INC
32   Y			3TQ				30.99	46,485.00	THE MASTERS DISTRIBUTION SYSTEMS
AND CORNER POWER PARTY SHEET IN MAJE ONLY, PAT NOT TO EXCELD 2004, MUST WEIGH 8.2 2  83.15 24,348.30 758 MASTERS DISTRIBUTION SYSTEMS  750 CS 24.18 125,597.50 ARTICLA CENTRAL PREPARED STRIBUTION SYSTEMS  83.16 24,348.30 758 MASTERS DISTRIBUTION SYSTEMS  40.22 30,440.00 VAN WOURS LIC.  40.23 30,440.00 VAN WOURS LIC.  40.23 30,440.00 VAN WOURS LIC.  40.24 30,440.00 VAN WOURS LIC.  40.25 30,450.00 RECTAINED WINC.  40.26 30,400.00 VAN WOURS LIC.  40.00 CS 25.00 0.00 RECTAINED WINC.  50.00 SECOND PREPARED STRIBUTION SYSTEMS  50.00 SECOND RECTAINED WINC.  50.00 SECOND RECTAIN		Y					37.76	56,640.00	SUPER BAKERY INC
81.15   24.345.30   THE MASTERS DISTRIBUTION SYSTEMS	32	Y				CS	50.76	15,228.00	GOODMAN FOOD PRODUCTS
TREE PREFERED							81.15	24,345.00	THE MASTERS DISTRIBUTION SYSTEMS
40.32   30.240.00   VAN WOLFS LLC	34	Y			750	CS	34.13	25,597.50	ARYZTA LLC
RESPRESENCE   40.32   88,640.00   VAN WOUTS LEC				FREE PREFERRED			40.32	30,240.00	VAN WOLFS LLC
	35	Y			2,000	CS	34.13	68,260.00	ARYZTA LLC
36   Y   COOMIC CONFETTI CAKE, WHITE, 120/CASE   100   CS   5,200   5,200   5,200   5,200   MAIN BEEF CO INC							40.32	80,640.00	VAN WOLFS LLC
336							43.00	86,000.00	STERLING BV INC
S3,75   S3,75.00   THE MASTERS DISTRIBUTION SYSTEMS	36	Y		COOKIE CONFETTI CAKE, WHITE, 120/CASE	100	CS	52.00	5,200.00	RICH PRODUCTS CORPORATION
37 Y  COOKIE, TRIPLE CHOCOLATE FILLED, IW, 120/CASE  1,000 CS  53.60  53.60  53.60  53.60  53.60  53.60  53.60  53.60  53.60  53.75  53.75  53.75  53.75  50.00  THE MASTERS DISTRIBUTION SYSTEMS  4.000 CS  23.38  93.52  241,280.00  TASTY BRANDS LLC  60.32  241,280.00  TYSON PREPARED FOODS INC  DOUGH, 12X16 IN PRODICTS CORPORATION  40  Y  DOUGH, 12X16 IN PROOF & BAKE SHEETED, WHOLE GRAIN RICH, 20/CS, RICH'S #11108  OR SIMILAR  41  Y  DOUGH ROLL, CINNAMON, 51% WHOLE WHITE WHEAT FLOUR, PRE-CUT, 2 OZ, INDIVIDUALLY QUICK FROZEN  41  DOUGH ROLL, CINNAMON, 51% WHOLE WHITE WHEAT FLOUR, PRE-CUT, 2 OZ, INDIVIDUALLY QUICK FROZEN  45  Y  DUMPLINES, CHICKEN, FILLY COKED, TEXTURED SOY PROTEIN AND CABBAGE IN WHOLE WHITE WHEAT FLOUR PRODUCTS CORPORATION  45  45  Y  DUMPLINES, CHICKEN, FILLY COKED, TEXTURED SOY PROTEIN AND CABBAGE IN WHOLE WHITE WHOLE WHITE WHOLE GRAIN, 240/CS, RICH # 16206 OR SIMILAR  48  Y  ROLL DOUGH, HAWAIIAN, 51% WHOLE GRAIN, 240/CS, RICH # 16206 OR SIMILAR  1,000 CS  52,00 0 52,000.00 RICH PRODUCTS CORPORATION  53.60  53.60  53.60  53.60  53.60  53.60  53.60  53.60  53.60  53.60  53.60  53.60  53.70  755.00  THE MASTERS DISTRIBUTION SYSTEMS  7700 CS  30.71  21,497.00  81CH PRODUCTS CORPORATION  41.21  28,847.00  THE MASTERS DISTRIBUTION SYSTEMS  51.10  35,798.00  87-44,216.00  SCHWANS FOOD SERVICE  57.28  45,824.00  87-700 CS  57.28  45,824.00  87-700 CS  57.28  45,824.00  87-700 CS  57.28  45,824.00  87-700 CS  57-700 CS							53.60	5,360.00	BRAUN BEEF CO INC
S3,60							53.75	5,375.00	THE MASTERS DISTRIBUTION SYSTEMS
S3.75   S3,750.00   THE MASTERS DISTRIBUTION SYSTEMS	37	Y		COOKIE, TRIPLE CHOCOLATE FILLED, IW, 120/CASE	1,000	CS	52.00	52,000.00	RICH PRODUCTS CORPORATION
NA   CORN DOG MINIS, WG, 40 SERVINGS/CASE							53.60	53,600.00	BRAUN BEEF CO INC
A0							53.75	53,750.00	THE MASTERS DISTRIBUTION SYSTEMS
A0	38	NA		CORN DOG MINIS, WG, 40 SERVINGS/CASE	4,000	CS	23.38	93,520.00	TASTY BRANDS LLC
OR SIMILAR  43.92 21,960.00 RICH PRODUCTS CORPORATION  45.28 22,640.00 BRAUN BEEF CO INC  45.67 22,835.00 THE MASTERS DISTRIBUTION SYSTEMS  700 CS 30.71 21,497.00 BRIDGFORD MARKETING COMPANY  NDIVIDUALLY QUICK FROZEN  700 CS 30.71 21,497.00 BRIDGFORD MARKETING COMPANY  39.46 27,622.00 RICH PRODUCTS CORPORATION  41.21 28,847.00 THE MASTERS DISTRIBUTION SYSTEMS  51.14 35,798.00 BRAUN BEEF CO INC  45 Y DUMPLINGS, CHICKEN, FULLY COOKED, TEXTURED SOY PROTEIN AND CABBAGE IN WHOLE WHEAT WRAPPER, PROVIDES 2.00 02 EQUIVALENT M/M ALTERNATE AND 102 EQUIVALENT GRAINS, 420 PIECES PER CASE  700 CS 55.27 44,216.00 SCHWANS FOOD SERVICE  57.28 45,824.00 BRAUN BEEF CO INC							60.32	241,280.00	TYSON PREPARED FOODS INC
45.28 22,640.00 BRAUN BEEF CO INC  45.67 22,835.00 THE MASTERS DISTRIBUTION SYSTEMS  700 CS 30.71 21,497.00 BRIDGFORD MARKETING COMPANY  100 INDIVIDUALLY QUICK FROZEN  39.46 27,622.00 RICH PRODUCTS CORPORATION  41.21 28,847.00 THE MASTERS DISTRIBUTION SYSTEMS  51.14 35,798.00 BRAUN BEEF CO INC  45 Y DUMPLINGS, CHICKEN, FULLY COOKED, TEXTURED SOY PROTEIN AND CABBAGE IN WHOLE WHEAT WRAPPER, PROVIDES 2.00 OZ EQUIVALENT M/M ALTERNATE AND 10Z EQUIVALENT GRAINS, 420 PIECES PER CASE  48 Y ROLL DOUGH, HAWAIIAN, 51% WHOLE GRAIN, 240/CS, RICH # 16206 OR SIMILAR  1,000 CS 27.70 27,700.00 RICH PRODUCTS CORPORATION	40	Y			500	CS	24.15	12,075.00	BRIDGFORD MARKETING COMPANY
41 Y  DOUGH ROLL, CINNAMON, 51% WHOLE WHITE WHEAT FLOUR, PRE-CUT, 2 OZ, INDIVIDUALLY QUICK FROZEN  700 CS  30.71 21,497.00 BRIDGFORD MARKETING COMPANY  39.46 27,622.00 RICH PRODUCTS CORPORATION  41.21 28,847.00 THE MASTERS DISTRIBUTION SYSTEMS  51.14 35,798.00 BRAUN BEEF CO INC  45 Y  DUMPLINGS, CHICKEN, FULLY COOKED, TEXTURED SOY PROTEIN AND CABBAGE IN WHOLE WHEAT WRAPPER, PROVIDES 2.00 OZ EQUIVALENT M/M ALTERNATE AND 10Z EQUIVALENT GRAINS, 420 PIECES PER CASE  48 Y  ROLL DOUGH, HAWAIIAN, 51% WHOLE GRAIN, 240/CS, RICH # 16206 OR SIMILAR  1,000 CS  27.70 27,700.00 RICH PRODUCTS CORPORATION							43.92	21,960.00	RICH PRODUCTS CORPORATION
A1							45.28	22,640.00	BRAUN BEEF CO INC
1   1   1   1   2   2   3   4   2   7   6   2   2   0   0   1   1   1   1   1   1   1   1							45.67	22,835.00	THE MASTERS DISTRIBUTION SYSTEMS
41.21 28,847.00 THE MASTERS DISTRIBUTION SYSTEMS  51.14 35,798.00 BRAUN BEEF CO INC  45 Y DUMPLINGS, CHICKEN, FULLY COOKED, TEXTURED SOY PROTEIN AND CABBAGE IN WHOLE WHEAT WRAPPER, PROVIDES 2.00 OZ EQUIVALENT M/M ALTERNATE AND 1OZ EQUIVALENT GRAINS, 420 PIECES PER CASE  48 Y ROLL DOUGH, HAWAIIAN, 51% WHOLE GRAIN, 240/CS, RICH # 16206 OR SIMILAR  1,000 CS  27.70 27,700.00 RICH PRODUCTS CORPORATION	41	Y		700	CS	30.71	21,497.00	BRIDGFORD MARKETING COMPANY	
45 Y DUMPLINGS, CHICKEN, FULLY COOKED, TEXTURED SOY PROTEIN AND CABBAGE IN WHOLE WHEAT WRAPPER, PROVIDES 2.00 OZ EQUIVALENT M/M ALTERNATE AND 10Z EQUIVALENT GRAINS, 420 PIECES PER CASE  48 Y ROLL DOUGH, HAWAIIAN, 51% WHOLE GRAIN, 240/CS, RICH # 16206 OR SIMILAR  1,000 CS  27.70 27,700.00 RICH PRODUCTS CORPORATION							39.46	27,622.00	RICH PRODUCTS CORPORATION
45 Y DUMPLINGS, CHICKEN, FULLY COOKED, TEXTURED SOY PROTEIN AND CABBAGE IN WHOLE WHEAT WRAPPER, PROVIDES 2.00 OZ EQUIVALENT M/M ALTERNATE AND 10Z EQUIVALENT GRAINS, 420 PIECES PER CASE  48 Y ROLL DOUGH, HAWAIIAN, 51% WHOLE GRAIN, 240/CS, RICH # 16206 OR SIMILAR  1,000 CS  27.70 27,700.00 RICH PRODUCTS CORPORATION							41.21	28,847.00	THE MASTERS DISTRIBUTION SYSTEMS
WHOLE WHEAT WRAPPER, PROVIDES 2.00 OZ EQUIVALENT M/M ALTERNATE AND 10Z EQUIVALENT GRAINS, 420 PIECES PER CASE  To see the content of the cont							51.14	35,798.00	BRAUN BEEF CO INC
EQUIVALENT GRAINS, 420 PIECES PER CASE  57.28 45,824.00 BRAUN BEEF CO INC  48 Y ROLL DOUGH, HAWAIIAN, 51% WHOLE GRAIN, 240/CS, RICH # 16206 OR SIMILAR  1,000 CS  27.70 27,700.00 RICH PRODUCTS CORPORATION	45	Y				CS	55.27	44,216.00	SCHWANS FOOD SERVICE
							57.28	45,824.00	BRAUN BEEF CO INC
28.56 28,560.00 BRAUN BEEF CO INC	48	Y		ROLL DOUGH, HAWAIIAN, 51% WHOLE GRAIN, 240/CS, RICH # 16206 OR SIMILAR	1,000	CS	27.70	27,700.00	RICH PRODUCTS CORPORATION
							28.56	28,560.00	BRAUN BEEF CO INC

Ln#	Award (Y/N) Re	sason Item Description	Quantity	UOM	Price	Extended Price	Supplier
					29.45	29,450.00	THE MASTERS DISTRIBUTION SYSTEMS
49	Y	DINNER ROLLS, FROZEN DOUGH, 51% WHOLE GRAIN WHITE WHEAT FLOUR, 240/CS	4,200	cs	18.81	79,002.00	BRIDGFORD MARKETING COMPANY
					27.68	116,256.00	LUX BAKERY INC
					37.41	157,122.00	RICH PRODUCTS CORPORATION
					39.16	164,472.00	THE MASTERS DISTRIBUTION SYSTEMS
					46.63	195,846.00	BRAUN BEEF CO INC
50	Y	DONUT HOLE, YEAST RAISED, BULK PACKED, 51% WHOLE GRAIN, 384/CS, RICHS #02725 OR SIMILAR	500	CS	29.33	14,665.00	RICH PRODUCTS CORPORATION
					30.24	15,120.00	BRAUN BEEF CO INC
					31.08	15,540.00	THE MASTERS DISTRIBUTION SYSTEMS
51	Y	DONUT RING, BULK PACKED, 51% WHOLE GRAIN, 84/CS, RICHS # 14839, OR SIMILAR	400	CS	34.31	13,724.00	RICH PRODUCTS CORPORATION
					35.37	14,148.00	BRAUN BEEF CO INC
					36.06	14,424.00	THE MASTERS DISTRIBUTION SYSTEMS
52	Y	DOUBLE DOGS, MINI PULL APART HOT DOGS, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN BUNS, 90/CASE, BROOKS STREET BAKERY #60003 OR EQUAL	200	cs	63.02	12,604.00	TSD DISTRIBUTING INCORPORATED
53	Y	DUTCH WAFFLE, BULK PACKED, 51% WHOLE GRAIN, 48/CASE	800	cs	23.00	18,400.00	J AND J SNACK FOODS SALES CORP
					32.09		CONAGRA FOODS INCORPORATED
54	NA	EGG ROLL, VEGETABLE, ENRICHED GRAIN FLOUR, 130/CASE	1,400	CS	54.00	75,600.00	INTERNATIONAL FOODS SOLUTIONS INC
55	Y	FISH, ALASKAN POLLOCK, 51% WHOLE GRAIN NACHO BREADING, SUITABLE FOR	1,500	CS	38.76	58,140.00	BRAUN BEEF CO INC
		BAKING NOT FRYING, 20# CASE			39.35	59 025 00	THE MASTERS DISTRIBUTION SYSTEMS
56	Y	FLATBREAD, 6X6, FROZEN, PRE-COOKED, 51% WHOLE WHITE WHEAT, GRILL MARKS	500	cs	40.23		RICH PRODUCTS CORPORATION
		ON BOTTOM AND BUBBLED BROWNING SPOTS ON TOP, 192/CASE, RICH'S #14010 OF EQUAL				·	
					41.47	20 725 00	BRAUN BEEF CO INC
					41.47		THE MASTERS DISTRIBUTION SYSTEMS
57	Y	FRENCH TOAST BITES, CHOCOLATE CHIP OR OTHER FLAVORS. IW. 51% WHOLE GRAIN	1,500	cs	26.06		KELLOGG SALES COMPANY
		72/CASE	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			,	
					26.86		BRAUN BEEF CO INC
58	Y	FRENCH TOAST, MINIS, BERRY FLAVOR OR SIMILAR, INDIVIDUALLY WRAPPED, 72/CAS	E 1,500	cs	27.81	41,715.00	THE MASTERS DISTRIBUTION SYSTEMS
59		9PS FRENCH TOAST STICKS, BULK PACK, 480 EA./CASE	1,500	cs	34.27	51,405.00	MICHAEL FOODS
	Y				39.26	58,890.00	RICH PRODUCTS CORPORATION
					40.47	60,705.00	BRAUN BEEF CO INC
					41.01	61,515.00	THE MASTERS DISTRIBUTION SYSTEMS
					42.66		CHURCHFIELD TRADING COMPANY
60	Y	GARLIC KNOT, AT LEAST 51 % WHOLE GRAIN, 2 OZ GRAIN, 162/CS	750	cs	54.88	41,160.00	TASTY BRANDS LLC
62		JUICE, APPLE, 4 OZ FROZEN, CARTON, 100% JUICE	15,000	CS	9.81	147,150.00	COUNTRY PURE FOODS INC
					10.01	150,150.00	TSD DISTRIBUTING INCORPORATED
					10.58		GREGORY PACKAGING INC
					10.73		THE MASTERS DISTRIBUTION SYSTEMS
63	Y	JUICE, APPLE CHERRY, 4 OZ FROZEN, CARTON, 100% JUICE	4,000	CS	10.45		COUNTRY PURE FOODS INC
					10.58		GREGORY PACKAGING INC  TSD DISTRIBUTING INCORPORATED
					11.37		THE MASTERS DISTRIBUTION SYSTEMS
					11.37	+3) <del>4</del> 00.00	Who leto distribution statews

Ln#	Award (Y/N)	eason   Item Description	Quantity UON	/ Price	Extended Price	Supplier
64	Y	JUICE, FRUIT PUNCH, 4 OZ FROZEN, CARTON, 100% JUICE	7,000 CS	10.16	71,120.00	COUNTRY PURE FOODS INC
				10.37	72,590.00	TSD DISTRIBUTING INCORPORATED
				10.95	76,650.00	GREGORY PACKAGING INC
				11.08	77,560.00	THE MASTERS DISTRIBUTION SYSTEMS
65	Y	JUICE, WHITE GRAPE, 4 OZ FROZEN, CARTON, 100% JUICE	5,000 CS	11.42	57,100.00	COUNTRY PURE FOODS INC
				11.65	58,250.00	TSD DISTRIBUTING INCORPORATED
				12.34	61,700.00	THE MASTERS DISTRIBUTION SYSTEMS
				12.85	64,250.00	GREGORY PACKAGING INC
66	Y	JUICE, ORANGE, 4 OZ FROZEN, CARTON, 100% JUICE	12,000 CS	10.71	128,520.00	COUNTRY PURE FOODS INC
				10.94	131,280.00	TSD DISTRIBUTING INCORPORATED
				11.20	134,400.00	GREGORY PACKAGING INC
				11.63	139,560.00	THE MASTERS DISTRIBUTION SYSTEMS
67	Y	JUICE, 100% FROZEN FRUIT, NO SUGAR ADDED, PROVIDES 0.5 CUP FRUIT, VARIETY	800 CS	28.94	23,152.00	COUNTRY PURE FOODS INC
		FLAVORS, ROSARTI ICE OR SIMILAR, 90/CS				
				29.53	23,624.00	TSD DISTRIBUTING INCORPORATED
				29.73	23,784.00	THE MASTERS DISTRIBUTION SYSTEMS
68	Y	LOAF BANANA OR OTHER FLAVORS, SLICED, IW. 51% WHOLE GRAIN. 70/CASE	SE 1,000 CS	22.40	22,400.00	THE MASTERS DISTRIBUTION SYSTEMS
				23.71	23,710.00	BRAUN BEEF CO INC
				28.67	28,670.00	CHURCHFIELD TRADING COMPANY
				36.05	36,050.00	TASTY BRANDS LLC
				40.49		SUPER BAKERY INC
69	Y	LOAF PUMPKIN OR SIMILAR, SLICED, BULK PACKED. 51% WHOLE GRAIN. 70/CASE	400 CS	40.49		SUPER BAKERY INC
					,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
70	Y	LUNCH KIT, TURKEY & CHEESE. EACH TRAY (4.210Z. SERVING) PROVIDES 2.0 OZ EQUIVALENT MEAT/MEAT ALTERNATE & 2.0 OZ. EQ. GRAIN FOR THE CHILD NUTRITOR MEAL PATTERN REQUIREMENTS. 48/CS	800 CS	80.21	64,168.00	TASTY BRANDS LLC
71	Y	LUNCH KIT, TURKEY PEPPERONI & CHEESE PIZZA. EACH TRAY (4.21 OZ. SERVING) PROVIDES 2.0 OZ EQUIVALENT MEAT/MEAT ALTERNATE & 2.0 OZ. EQ. GRAIN FOR THE CHILD NUTRITION MEAL PATTERN REQUIREMENTS. 48/CS	400 CS	79.63	31,852.00	TASTY BRANDS LLC
72	Y	MANGO CHUNKS, IQF. 20#CS.	200 CS	46.95	9,390.00	BRAUN BEEF CO INC
74	Y	MAYONNAISE, LIGHT, 4/1 GALLON/CASE	600 CS	52.66	31,596.00	THE MASTERS DISTRIBUTION SYSTEMS
75	Y	MEAL BREAK, TURKEY & CHEESE ON A HOGIE BUN, PACKAGED WITH 1/2 CUP FRUIT AND 1/2 CUP VEGETABLE. 51%WHOLE GRAIN. IW. 30/CASE	500 CS	77.82	38,910.00	ES FOODS
77	NA	MOZZARELLA STICKS, BREADED REDUCED SODIUM, 51% WHOLE GRAIN, SUITIBLE FOR BAKING. 80 sv/CASE	400 CS	61.96	24,784.00	RICH PRODUCTS CORPORATION
				63.71	25,484.00	THE MASTERS DISTRIBUTION SYSTEMS
				63.88	25,552.00	BRAUN BEEF CO INC
				91.44	36,576.00	TASTY BRANDS LLC
78	Y	MOZZARELLA BITES, BREADED, JALAPEÑO, AT LEAST 51 % WHOLE GRAIN, 2 MEAT 2 GRAIN	600 CS	64.10	38,460.00	RICH PRODUCTS CORPORATION
				65.85	39,510.00	THE MASTERS DISTRIBUTION SYSTEMS
				66.08	39,648.00	BRAUN BEEF CO INC
				82.97	49,782.00	TASTY BRANDS LLC
79	Y	MUFFIN, BLUEBERRY OR SIMILAR FLAVOR, INDIVIDUALLY WRAPPED, 51% WHOLE	1,000 CS	23.00	23,000.00	THE MASTERS DISTRIBUTION SYSTEMS
		GRAIN, 60/CASE				

10#	Award (V/N)	Boscon	How Description	Quantity	HOM	Drico	Eutondod Drico	Supplier
Ln#	Award (Y/N)	Reason	Item Description	Quantity	иом			Supplier
						27.30		ARYZTA LLC
						30.32	30,320.00	BRAUN BEEF CO INC
						51.00	51,000.00	STERLING BV INC
80			MUFFIN, SWEET POTATO CHOCOLATE CHIP or SIMILAR FLAVOR, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 3.2 OZ, 120/CASE	1,000	cs	23.90	23,900.00	THE MASTERS DISTRIBUTION SYSTEMS
	Y					51.00	51,000.00	STERLING BV INC
81	Y		MUFFIN, STRAWBERRY OR SIMILAR FLAVOR, WG, IW, 120/CASE	1,000	cs	23.90	23,900.00	THE MASTERS DISTRIBUTION SYSTEMS
						30.32	30,320.00	BRAUN BEEF CO INC
						51.00	51,000.00	STERLING BV INC
82	NA		OATMEAL BARS, STRAWBERRY OR SIMILAR FLAVOR, WHOLE GRAIN, IW,	1,000	cs	47.37	47,370.00	LUX BAKERY INC
83	Y		2.20Z/160/CASE  OATMEAL SOFT ROUNDS, BANANA CHOCOLATE CHIP OR SIMILAR FLAVOR, NATURE	1,000	CS	30.94	30,940.00	THE MASTERS DISTRIBUTION SYSTEMS
			VALLEY #17364000 OR SIMILAR, 72/2.32 OZ/CASE					
						53.77	53,770.00	RICH PRODUCTS CORPORATION
						55.43	55,430.00	BRAUN BEEF CO INC
84		9PS	PANCAKES, BUTTERMILK, BULK PACK, 144/CASE	3,000	cs	18.91	56,730.00	KELLOGG SALES COMPANY
		9PS				19.49	58,470.00	BRAUN BEEF CO INC
		9PS				20.66	61,980.00	THE MASTERS DISTRIBUTION SYSTEMS
		3TQ				21.38	64,140.00	CHURCHFIELD TRADING COMPANY
	Y					32.44	97,320.00	CONAGRA FOODS INCORPORATED
85	Y		PANCAKE MINIS, MAPLE FLAVOR OR SIMILAR, 51% WHOLE GRAIN, SINGLE SERVE,	1,500	CS	26.06	39,090.00	KELLOGG SALES COMPANY
			OVENABLE POUCH, 72/CASE					
						26.86	40,290.00	BRAUN BEEF CO INC
						27.81	41,715.00	THE MASTERS DISTRIBUTION SYSTEMS
86		9PS	PEANUT BUTTER & JELLY SANDWICH, GRAPE, WG, IW, 72/CASE	500	CS	25.35	12,675.00	THE MASTERS DISTRIBUTION SYSTEMS
	Y					45.75	22,875.00	BRAUN BEEF CO INC
89	Y		PIZZA CRUNCHERS, WHOLE GRAIN, 8/3.125LBS/CS, RICHS # 65225 OR SIMILAR	1,000	CS	66.24	66,240.00	RICH PRODUCTS CORPORATION
						67.99	67,990.00	THE MASTERS DISTRIBUTION SYSTEMS
						68.28	68,280.00	BRAUN BEEF CO INC
90			RICE, COOKED, FRIED, WHOLE GRAIN BROWN, VEGETABLE, 1 GRAIN EQUIVALENT PER SERVING	800	CS	69.75	55,800.00	INTERNATIONAL FOODS SOLUTIONS INC
	Y		SERVING			70.93	56,744.00	OUT OF THE SHELL LLC
92		3TQ	SANDWICH, HAM & CHEESE, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN BREAD,	100	CS	61.22	6,122.00	THE MASTERS DISTRIBUTION SYSTEMS
		3TQ	72/CASE			61.30	6,130.00	BRAUN BEEF CO INC
	Y					78.14		TASTY BRANDS LLC
						78.96		TSD DISTRIBUTING INCORPORATED
						80.74		TYSON PREPARED FOODS INC
93	Y		SAUSAGE BISCUIT SANDWICH, INDIVIDUALLY WRAPPED, POULTRY SAUSAGE, 51%	2,500	CS	38.70		HEART OF TEXAS BISCUITS INC
			WHOLE GRAIN, 60/2.6 OZ/CS	2,300	3.0	76.94		TYSON PREPARED FOODS INC
0.4		ODC	SALISACE LINE ELLIV COOPED ONE LINE PROVIDES AND AND PORT FORE CONTINUE	500	CS			
94		945	SAUSAGE LINK, FULLY COOKED, ONE LINK PROVIDES, 1M/MA, PORK FREE, CONTAINS NO MAJOR ALLERGENS	500	CS .	31.08	15,540.00	TYSON PREPARED FOODS INC
		9PS				32.83	16,415.00	THE MASTERS DISTRIBUTION SYSTEMS
	Y					39.36	19,680.00	JENNIE O TURKEY STORE SALES LLC
95	NA		SAUSAGE ROLL, BREAKFAST, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH	500	CS	27.50	13,750.00	MICHAEL VASQUEZ
			AND BAKED, LOW SODIUM, 2.5 OZ, DOUBLE B #4086 OR EQUAL					

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
96	Y		SAUSAGE ROLL, BREAKFAST, INDIVIDUALLY WRAPPED IN OVENABLE WRAP, 2 OZ, SMOKED CHICKEN AND BEEF KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH AND BAKED, 136/CASE #4289B	2,250	cs	27.50	61,875.00	MICHAEL VASQUEZ
99	Y		TAMALE, CHICKEN TOMATILLO, IN HUSK, 51% WHOLE GRAIN	1,500	CS	52.02	78,030.00	CHURCHFIELD TRADING COMPANY
						59.05	88,575.00	PADRINO FOODS LLC
						67.54	101,310.00	THE MASTERS DISTRIBUTION SYSTEMS
103	Y	TURKEY THIGH, GROUND, TACO SEASONED, FULLY COOKED, BOIL IN BAG, 4/7LB/CS, USAGE DEPENDS ON USDA ALLOCATION	400	cs	76.24	30,496.00	JTM PROVISIONS CO INC	
						77.99	31,196.00	THE MASTERS DISTRIBUTION SYSTEMS
						82.60	33,040.00	JENNIE O TURKEY STORE SALES LLC
104	NA		WAFFLES, WHOLE GRAIN, WHOLESOME CHOICE, MAPLE OR SIMILAR, 144/1.40Z, BAKECRAFTERS #1556 OR SIMILAR	1,000	CS	20.82	20,820.00	BRAUN BEEF CO INC
					23.04	23,040.00	KELLOGG SALES COMPANY	
						24.79	24,790.00	THE MASTERS DISTRIBUTION SYSTEMS
105		3TQ	WAFFLE MINIS, MAPLE OR SIMILAR, SINGLE SERVE, 72/CS.	1,000	CS	26.06	26,060.00	KELLOGG SALES COMPANY
		3TQ				26.86	26,860.00	BRAUN BEEF CO INC
		3TQ				27.81	27,810.00	THE MASTERS DISTRIBUTION SYSTEMS
	Y					39.24	39,240.00	ARLINGTON VALLEY FARMS
						47.17	47,170.00	TASTY BRANDS LLC
106	NA		WAFFLES, MINI, MAPLE CHIP, BULK, 81 SERV./CASE	2,500	CS	23.77	59,425.00	BRAUN BEEF CO INC
107		3TQ	WAFFLE BITES, CINNAMON OR SIMILAR, IW. 51% WHOLE GRAIN. 72/CASE	1,500	cs	26.06	39,090.00	KELLOGG SALES COMPANY
		зто				26.86	40,290.00	BRAUN BEEF CO INC
	Y					39.24	58,860.00	ARLINGTON VALLEY FARMS
109	Y		WHIPPED TOPPING, NON-DAIRY, 12/CS	200	CS	40.49	8,098.00	RICH PRODUCTS CORPORATION
						41.74	8,348.00	BRAUN BEEF CO INC
						42.24	8,448.00	THE MASTERS DISTRIBUTION SYSTEMS